
Homework due 9/27
Daniel Gameiro RUID : 195000275

Ok to post

Sec
.
13.3

3) r 'Itt C 2, ¥ ,
2T >

Ir ' HH --kt¥f
fifty = 15+2414

9) r 'Lt) = ( Zt, 4T, 3 t ' >
Ir 'HH=t49t42oT
SHI = got FEI = (94+20)%-8.5%27



M) r 'tt) = C 2, 4 , - 1 7

514) = try 4) I = TH

13) r' LH =L I , I , 2h11 >
Sh) = Ir ' UH = A

15) r ' Itt =L 3 cos Gtl , - 4S in htt) , -55in
SIE) -- tr ' LEH = 5

Sec
.

13.4

1) r ' (th L 8497
THI = LEET , Itf >
TH = I ¥77
5) t ' htt = L - Tls in ITIt) , Taos(TH) , I >
TCH = f

- Tsin l Tt) , Taos(TH) , I
1¥ x¥ Ea )



THI -- CO
,
-Ira , !⇒

7) r' Hk so, et , 17
r "# = SO , et , O >

KLH=HHIxr" Ith et

Tr¥=¥i
11) Nlt)=L - ¥ ,

- ¥ , 2T >
r"LH=C¥ , ¥4,2 >
r 't- 1) =L - I

,
2
,
-27

r 'll - 1) =L -2, 6,27
"*trY" =#

17) Y' =4t3 Y ' ' = 12T '

Y' 121=32 Y' 44=48

Kuki:i;:÷.=Y÷.



21) rytf Stanhtt)
'

,
- sech# * tomtit) >

rite sYfsoso.YII.I.sk#=lr'lHxr" CHI

Tres
=¥h
Sinh

kltkg.TT#j-CSChIHTshtI2
Sec

.

13.5

3) VITESSE, -1,8T> Vhf , -1,8)
Mtk Cbt

, 0,8 > ath - 56,018)
SCH =9t4tb4tT sci ) =

5) Htt case
,
- Simo

,
-35in Get > VELI , so)

Htt --Gino, - osso , - sessions
> a

EFE
,

5ft)=cos2etSin20t9sin430# 51¥) -- I



HUH -_ LE -14,4447
-02-14=3 0+4=-2
Cx=3 Cy= - 2

Htt E -13,4T -27

rlH=Ctft3ttC×,2tK2ttCy >
0-0-14=0 0-14=0

Cx=0 Cy=0
rft)=C¥t3t,2t2 - IS
D) HIKE .ktE c=i

vltt-E.tt ;
ret) -_ E-oktt.itc-c-jrltt-tfoktt.it;



31) 2 (2,1 , -37.512,201207=-32
Particle is slowing down

33) Htt -- Sl , - sink) , cos# s

att) = so ,
- Costa ,

- sinus >

4- HI = O Antti =/

Sec
.

14.1

1) f (2,4=2+2 - 23=18

ff- I , 4) = - It 4th
's
= - 5

3) fl 3,8 , 2) = 341=6
f-(31-4-6)=3

= -I a-4×2

" the
:÷::*:

"

.is
' "

the red region



"

÷÷÷÷
231

¥.

"



"'

AH.
For m=6 we have flx, yl - Zxtbytb
For m=3 ,

'

fcx, y ) = Xt3y -13

Sec
.
14.2

5) This problem is missing in the scan

M¥7. "xYT=¥: "nF÷
= find the = HI

m
's m3

The limit depends on m , therefore
it doesn't exist

.



"himftp.im#=I;mom*X-oX43t2m2)
= E'Foztfzm = Ifm. limits+doesn't
23) Along the X-axis we know y --o , 2=0

¥7 ¥ = no E- a

27) plugging in , this limit equals
- Ibe

31) plugging in ,
this limit equals Is

35) Plugging in , this limit equals -48


